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GENERAL INSTRUCTION TO THE EXAMINEES: 

 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 
 

   Candidate must write first his/her Roll No. on the question paper compulsorily. 
2- lHkh iz'u djus vfuok;Z gSA 
 

   All the questions are compulasory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
 

   Write the answer to each question in the given answer book only. 
4- ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA  

For questions having more than one part the answers to those parts are to be 

written   together in continuity. 
5- iz'u i= ds fgUnh ij vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@vUrj@fojks/kkHkkl gksus ij fgUnh  

   Hkk"kk ds iz'u dks lgh ekusaA  

   If there is any error/difference/contradiction in Hindi & English version of the 

question paper, the question of the Hindi version should be treated valid.   
6- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA  

Write down the serial number of the question before attempting it. 

7- iz'uksa dk vadHkkj fuEukuqlkj gSA 

     Weightage of marks for the question is as follows. 

 

[k.M iz'u la[;k iz'uksa 

dh 

la[;k 

vad 

izR;sd 

iz'u 

dqy vad Hkkj 

[k.M&v(A) 1 ( i  to  x  ),  2  to 11 20 1 20 

[k.M&c(B) 12 to 15 4 2 8 

[k.M&l(C) 16 to 19 4 3 12 

[k.M&n(D) 20 to 21 2 4 8 

[k.M&;(E) 22 to 23 2 4 8 

 

 

7- iz'u Øekad 20 ls 21 ekufp= dk;Z ls lacf/kr gS vkSj izR;sd 4 vad dk gSA 

   Question No. 20-21 are related to map-work carrying 4 marks each. 

 

8- fo'o] Hkkjr ,oa jktLFkku ds miyC/k djk, x, js[kk ekufp=ksa dks mÙkjiqfLrdk ds lkFk uRFkh djsaA 

   Attach the given outline maps of World, India and Rajasthan with the answer-book. 

 
 

 



 

 

 

[k.M v 

Section A 

 
1- fuEu fyf[kr iz'uksa ds mÙkj fyf[k, & 

   Write the answer of following multiple choice questions in the given answer book. 

(i) laHkookn dh uhao fdlus j[kh \ 
¼v½ jsVtsy ¼c½ ,yu lsEiy  ¼l½ Cyka'k ¼n½ dkyZ lkoj  1 

 

  Who laid the foundation of Possiblism? 

(A)  Ratzel (B) Ellen Semple (C) Blache   (D) Karl Sauer    

 

(ii) Hkkjr esa 10 yk[k ls vf/kd tula[;k okys uxjksa dks D;k dgrs gS \ 
¼v½ uxj ¼c½ egkuxj  ¼l½ lUuxj ¼n½ o`gr uxj   1 

 

  Cities with population more the 10 lakh in India are called….. 

 (A)Town (B) Metropolitan (C) Sannagar (Conurbation)  (D) Large city  

  

(iii)  ,fLdeksa yksxksa ds thou esa fdu eNfy;ksa dk vR;f/kd egÙo gS \ 
¼v½ lhy eNfy;ka ¼c½ g~osy eNfy;ka ¼l½ lh&ykW;u ¼n½ NksVh eNfy;ka 1 

 

  Which fish has great importance in the life of Eskimos ? 

   (A)Seal Fishes (B) Whale Fishes (C) Sea Lion  (D) Small Fishes   

 

(iv)  fo'o dk izkphure m|e dkSulk gS \ 
¼v½ [kuu ¼c½ vk[ksV o laxzg.k ¼l½ eNyh idM+uk ¼n½ i'kqpkj.k  1 

 

  Which is the oldest economic activity of the world? 

   (A)Mining (B) Hunting & Food gathering (C) Fishing (D) Pastoralism 

  

(v)  lu~ 2011 dh tux.kuk ds vuqlkj Hkkjr dk vkSlr tula[;k ?kuÙo fdruk gSa \ 
¼v½ 294  ¼c½ 321  ¼l½ 382  ¼n½ 390    1 

 

 According to the 2011 Census, the average population density in India is…. 

   (A)294   (B) 321  (C) 382  (D) 390  

   

(vi)  xzhu gkml izHkko dks de djus ds D;k mik; gSa \ 
¼v½ thok'e bZa/ku dk de mi;ksx ¼c½ vf/kdkf/kd o`{kkjksi.k 

¼l½ Dyksjks¶yksjks dkcZu ds iz;ksx ij jksd ¼n½ mi;qZDr lHkh   1 

 

  What is the solution to reduce the Green House Effect? 

   (A)Reduced use of fossil fuels (B) Planting more trees 

   (C) Prohibition on the use of chlorofluorocarbons (D) All of the above  

 

(vii)  lwrh oL= m|ksx dh jkt/kkuh fdl uxj dks dgrs gS \ 
¼v½ eqEcbZ ¼c½ dkuiqj  ¼l½ xqtjkr ¼n½ dks;EcVwj   1 



 

  Which city is called the Capital of cotton textile industry? 

   (A) Mumbai (B) Kanpur  (C) Gujarat  (D) Coimbatore   
 

(viii)  Hkkjr esa phuh dk lcls cM+k mRiknd jkT; dkSulk gS \ 
¼v½ mÙkj izns'k ¼c½ fcgkj  ¼l½ egkjk"Vª ¼n½ rfeyukMq   1 

 

  Which is the largest Sugar producing state in India? 

   (A) Uttar Pradesh (B) Bihar (C) Maharashtra (D) Tamil Nadu   
 

(ix)  pEcy ifj;kstuk fdu fdu jkT;ksa dh la;qDr ifj;kstuk gSa \ 
¼v½ jktLFkku&xqtjkr  ¼c½ jktLFkku&e/;izns'k   

¼l½ jktLFkku&iatkc&gfj;k.kk ¼n½ jktLFkku&iatkc    1 

 

  Chambal project is a joint project of which states? 

   (A) Rajasthan-Gujarat  (B) Rajasthan-Madhya Pradesh  

  (C) Rajasthan-Punjab-Haryana (D) Rajasthan-Punjab     
 

(x)  jktLFkku esa lokZf/kd xkSoa'k fdl ftys esa ik;k tkrk gS \ 
¼v½ mn;iqj ¼c½ ukxkSj ¼l½ chdkusj ¼n½ tks/kiqj   1 

 

  In which district is the largest bovine found in Rajasthan? 

   (A) Udaipur (B) Nagaur (C) Bikaner (D) Jodhpur     
 

2- ØkWl D;k gS \          1 

      What is Cross? 

3- fyaxkuqikr fdls dgrs gaS \         1 

   What is the Sex-Ratio? 

4- iwoZ&if'pe xfy;kjk fdu nks 'kgjksa dks tksM+rk gS \     ½+½=1 

   Which two cities connects by East-West corridor? 

5- ifjogu dk lcls rhozre o vk/kqfud lk/ku dkSulk gS \     1 

   Which is the fastest and modern mode of transport ? 

6- jktLFkku dks [kfutksa dk vtk;c?kj D;ksa dgk tkrk gS \     1 

   Why Rajasthan is called a Museum of Minerals? 

7- jktLFkku esa fyaxkuqikr de gksus ds dksbZ nks dkj.k fyf[k, A   ½+½=1 

   Write any two reasons for low Sex ratio in Rajasthan. 

8- /kkfRod o v/kkfRod [kfutksa esa dksbZ ,d varj fyf[k, A     1 

   Write any one difference between metallic and non-metallic minerals. 

 

 



 

 

 

iz'u la[;k 9 ls 11 esa fjDr LFkku dh iwfrZ djrs gq, mŸkj&iqfLrdk esa fyf[k, & 

Fill in the Blanks of questions No. 9 to 11 in the given answer book. 

9- ekuo lekt vkSj mlds HkkSxksfyd laca/k fLFkj ugha gS] ;g lHkh laca/k ----------------------- gS A 1 

   Human Society and its geographical relationship is not stable, all this relationship is ....................  

10- Hkkjr esa izFke jsy 16 viszy 1853 dks eqEcbZ ls ------------------- ds e/; 34 fd-eh- esa pykbZ xbZA 1 

   The first Train in India was run on 16 April 1853 between Mumbai to .................. in 34 Kilometers. 

11- ---------------- flapkbZ o ------------------- flapkbZ fof/k;ksa dk mi;ksx dj ty dh cpr djuh pkfg,A 1 

     Water should be saved using ..............irrigation and ............. irrigation methods. 

[k.M c 

Section-B 
 

12- Hkkjr esa uxjh; tula[;k o`f) ds dksbZ pkj dkj.k fyf[k, A   ½x4=2 

    Write any Four reasons for growth of urban population in India. 

13- cq'keSu tutkfr ds vkfFkZd fØ;kdykiksa dks le>kb, A    ½x4=2 

    Explain economic activities of Bushman tribe? 

14- r`rh;d O;olk; ls vki D;k le>rs gS \       2 

    What do you understand by Tertiary occupation? 

15- ty iznw"k.k ds fu;a=.k gsrq pkj mik; crkbZ, A     ½x4=2 

    Write any four measures to control water pollution. 

 

[k.M l 

Section-C 
 

16- i'kqpkj.k dh lekykspuk dhft, A        3 

      vFkok 

    Hkkjr esa m|ksxksa ds fodkl ds fy, dksbZ rhu lq>ko nhft, A   1$1$1¾3 

       Critically explain the livestock rearing. 

                               or 

         Give any three suggestions/measures for the development of industries in India. 

17- l?ku o izdh.kZ vf/kokkl esa dksbZ rhu vUrj crkb, A    1$1$1¾3 

               vFkok 

    ekuo vf/koklksa dk oxhZdj.k izLrqr dhft, A      3 

    State any three differences between dense and scattered habitats. 

or 



         Discuss the classification of human habitats. 

18- Hkkjr esa tula[;k o`f) dks fu;af=r djus ds rhu mik; lq>kb, A   1$1$1¾3 

               vFkok 

    Hkkjr esa lk{kjrk nj c<+kus ds fy, dksbZ rhu lq>ko nhft, A   1$1$1¾3 

    Suggest any three measures to control population growth in India. 

or 

         Give any three suggestions to increase literacy rate in India. 

19- Hkkjr esa lwrh oL= m|ksx ds LFkkuh;dj.k dks izHkkfor djus okys dksbZ rhu dkj.kksa dk o.kZu 

dhft,A   vFkok       1$1$1¾3 

    lM+d ifjogu dh O;k[;k dhft,A        3 

    Describe any three reasons affecting the localization of cotton textile industry in India. 

or 

        Explain Road Transport. 

 

[k.M n 

Section-D 
 

20- fn, x, fo'o ds js[kk ekufp= esa fuEukafdr ykSg&bLikr mRiknd dsUnzksa ds vafdr dhft,&1x4¾4 

¼d½ cQSyks  ¼[k½ lSaVksl  ¼l½ lkj  ¼n½ vkslkdk 

vFkok 

    fn, x, fo'o ds js[kk ekufp= esa fuEukafdr l?ku tula[;k okys ns'kksa ds n'kkbZ, A  1x4¾4 

¼d½ phu  ¼[k½ tkiku  ¼l½ nf{k.kh dksfj;k  ¼n½ ckaXykns'k 

    On the given outline map of the world Mark the location of the following Iron-Steel Producing 

areas. 

(A) Buffalo  (B) Santos  (C) Saar  (D) Osaka 

or 

         Mark the location of the following densely populated countries on the given outline map of the     

world. 

(A) China  (B) Japan  (C) South Korea  (D) Bangladesh 

 

21- ¼v½ fn, x, Hkkjr ds js[kk ekufp= esa fuEukafdr lwrh oL= m|ksx dsUnzksa dks vafdr  

 dhft,&            ½x4=2 

 ¼d½ jktdksV  ¼[k½ enqjS  ¼l½ C;koj  ¼n½ HkhyokM+k 

vFkok 

     fn, x, Hkkjr ds js[kk ekufp= esa fuEukafdr izeq[k vkS|ksfxd uxjksa dh fLFkfr n'kkbZ,A   

¼d½ fpÙkkSMx<+ ¼[k½ t;iqj  ¼l½ psUubZ  ¼n½ Jhuxj 

    On the the given outline map of India Mark the location of the following Cotton Textile Industries. 

(A) Rajkot  (B) Madurai  (C) Beawar  (D) Bhilwara 

or 

        On the given outline map of India Mark the location of the following major industrial cities. 

(A) Chittorgarh  (B) Jaipur  (C) Chennai  (D) Srinagar 

 

 ¼c½ fn, x, jktLFkku ds js[kk ekufp= esa fuEukafdr ftyksa dks vafdr dhft, &  ½x4=2 

¼d½ chdkusj ¼[k½ ck¡lokM+k ¼l½ djksyh  ¼n½ ukxkSj 



vFkok 

    fn, x, jktLFkku ds js[kk ekufp= esa fuEukafdr ftyksa dks vafdr dhft, &   

¼d½ Hkjriqj  ¼[k½ tSlyesj  ¼l½ vtesj ¼n½ fljksgh 

    Mark the location of the following districts on the given outline map of Rajasthan. 

(A) Bikaner (B) Banswara  (C) Karauli  (D) Nagaur 

or 

         Mark the location of the following districts on the given outline map of Rajasthan. 

(A) Bharatpur (B) Jaisalmer  (C) Ajmer (D) Sirohi 

 

[k.M ; 

Section-E 
 

22- fo'o esa tula[;k ?kuRo dks izHkkfor djus okys vkfFkZd dkjdksa dh O;k[;k dhft,A 4 

vFkok 

tula[;k forj.k ls vki D;k le>rs gSa \ fuEufyf[kr dkjdksa ds vk/kkj ij fo'o esa tula[;k forj.k 

dks mnkgj.kksa lfgr le>kb,A 

¼i½ vofLFkfr  ¼ii½ tyok;q ¼iii½ /kjkry       1x4=4 

vFkok 

tula[;k dh O;kolkf;d lajpuk ij ys[k fyf[k,A 

 

Describe the economic factors that affect the population density in the world. 

or 

What do you mean by population distribution? On the basis of the following factors explain the 

population distribution in the world. 

(i) location  (ii) Climate (iii) Relief 

or 

       Write an essay on the Professional structure of the population. 

 

23- jktLFkku esa Ms;jh m|ksx ds fodkl gsrq vius lq>ko nhft,A    4 

vFkok 

   jktLFkku esa flapkbZ dh lqfo/kkvksa ds fodkl gsrq vius lq>ko nhft,A 

vFkok 

   jktLFkku esa tula[;k o`f) dk fo'ys"k.kkRed v/;;u dhft,A 

   Suggest the measures for development of Rajasthan dairy industry. 

or 

     Suggest the measures for development of irrigation in Rajasthan. 

or 

      Analyze the population growth in Rajasthan. 

 

 


